Smith Peck Deck / Pulley

o
=P}
—
e
%}
=
-
S
=T}
IE
=
1}
-]
-]
X

20690
www-Dkn-Technology.com ﬁ .









17




Cable Loop







Nr Item Qty Nr Item Qty
23 Rubber Bumper 2 61 Clip 6
28 Top Frame 1 62 Pulley Bushing 8
29 Rear Upright Frame 1

30 Rear Guide Rod 2 H8-16 M8 x 90mm Hex Head Bolt 2
31 Rear Base 1 H10-2 M10 x 20mm Hex Head Bolt 2
32 Right Butterfly Arm 1 H10-3 M10 x 25mm Hex Head Bolt 2
33 Left Butterfly Arm 1 H10-8 M10 x 50mm Hex Head Bolt 7
34 Butterfly Arm Support 1 H10-11 M10 x 65mm Hex Head Bolt 7
35 Butterfly Pulley Bracket 1 H10-12 M10 x 70mm Hex Head Bolt 3
36 Backrest Pad 1 H10-13 M10 x 75mm Hex Head Bolt 2
37 Lat Bar 1 H10-17 M10 x 95mm Hex Head Bolt 4
38 Low Row Bar 1

39 Pulley Plate 2 w8 M8 Washer 2
40 Pulley Bracket 1 BW10 Big M10 Washer 2
41 Lat Cable 1 W10 M10 Washer 40
42 Low Row Cable 1 N10 M10 Nut 23
43 Butterfly Cable 1

44 Foot Plate Base 1

45 Weight Carriage 1

46 Weight Carriage Support 2

47 Foam Roller 2

48 Pulley 11

49 Weight Carriage Olympic Sleeve 2

50 F50 x 70mm Inner Cap 2

51 F50 x 50mm Inner Cap 12

52 Weight Carriage Sleeve 2

53 Dia25mm Inner Cap 2

54 Spring Clip 2

55 Bumper End Cap 1

56 Butterfly Arm Bushing 4

57 Lat Bar Chain ( 250mm ) 1

58 Low Row Bar Chain ( 400mm) 1

59 Cable Chain (300mm ) 1

60 Handle Sleeve 4




| manual puede ser utilizado solamente para informacion
INo se pueden hacer responsable el suministrador de faltas eventuales o de cambios eventuales en las specificaciones
técnicas.

The owner’s manual is only for customers’ reference.
The supplier can not guarantee for mistakes occurring due to translation or changes in technical specifications of the
loroduct.

LLe manuel d'utilisation ne sert que d'information au consommateur.
Le fournisseur ne peut étre tenu responsable d'éventuelles erreurs de traduction ou d'éventuelles modifications
techniques du produit.

Deze handleiding kan enkel gebruikt worden als leiddraad.
De fabrikant kan niet verantwoordelijk gehouden worden voor eventuele fouten bij de vertaling noch voor eventuele
veranderingen in de technische specificaties.

Il manuale d’uso hdi informare il consumatore.
Il fornitore sara ritenuto indenne da qualsiasi responsabilita derivante da eventuali errori di traduzione o modifiche
tecniche del prodotto.

O manual pode ser utilizado somente para informagdo.
INdo se pode responsabilizar o fornecedor por eventuais falhas ou alteragoes nas especificagoes técnicas.

Das Handbuch ist nur fiir den Kundengebrauch bestimmt. Der Lieferant iibernimmt keine Garantie fiir
Ubersetzungsfehler und technische Anderungen.

IPyKo800cme0 nosab3os8amerns npedHa3Ha4yeHo mosbKo 045 CpasoYHbix yeaeli noKynamens.
Mocmaswuk He 2apaHnmupyem omcymcmeue owuboK nepesoda unu usMmeHeHulli mexHU4YeCcKuUx XxapaKmepucmuk
uzoenus.

ALL RIGHTS RESERVED/ BCE NMPABA 3ALLMLLEHbI
©/TM /DKN-Technology

www.dkn-technology.com

o = = m @ Il = m = 5= 10 = == 11






woo'ABbojouyosal-uyp-mmm

P
<%}
~—
N
-5}
=
S
S
o0
=
o
—
[S]
]
%)
=7






